Unit: Number System Name

Homework 6 Date Pd

CTATEMENTS OF INEQUALITY

Mafch each stafement or number line fo the correct inequality below fo solve the riddle.

P

———t—to—+—t—1—o—+—— negative 5 is IocoTed2Tg the left of negatfive
543210123 465 '
11— 11— zero is locafted fo the right of negafive 5
S5 -4 3 -2-1 01 2 3 45
——+— e 1is located to the right of negatfive 1.5
S5 -4 3 -2-1 01 2 3 4 5
—+—+——teot+—t—1—tet+—1t—— 1is located to the left of 4
S5 -4 3 -2-1 01 2 3 45
—(—o+—e+—— 11— negatfive 3 is locafed to the left of negafive 2.5
S5 -4 3 -2-1 01 2 3 45

P: -1<3 J. 4<5 E: 0>-5 C:1<4 L: -3<-1 N: -6<5

T:-256>-5 [ -1>-4 M: -2<1 O:-2<3 B: 4>25 [U:-156>-35

D: -4<1 S: -156<1 H: -25>-3 | W: 3>-4 R: 0>-4 A: -15<25

WHY DOES NORODY TALK TO CIRCLES?

B R ©) o)

7 9 4 5 8 7 6 10 7 7 2 8 3 1 2 3 6
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